4 xF103

F210x 2

SPMOD5 2

=

SPM002

Dﬁ/lpx F103
i
/ 2 X SPM005

/2 x F210

=

]

PART Noj DESCRIPTION QTY.
SPM002 | MOTORCYCLE RUB RAIL LH— APPROACH 1
NOTE' SPM004 | MOTORCYCLE RUB RAIL BRACKET 1
* SPM005 | MOTORCYCLE RUB RAIL L SHAPED BRACKET | 2
F1002 M16 x 32 SPLICE BOLT & NUT 5
THE REQUIRED PARTS AND FASTENERS FOR F1007 | MI6 x 32 SPLIGE BOLT & NUT _ 2
G4 W BEAM ASSEMBLY NOT SHOWN IN BOM F207 | M16 NUT 2
F210 M16 x 150 HEX. HD. BOLT 2
FS148 M24 WASHER 4
TOLERANCES CLIENT ITEM
n MOTORCYCLE RUB RAIL LH TERMINAL-APPROACH
ACP Whole Numbers $2
. GENERAL ARRANGEMENT
AUSTRALIAN CONSTRUCTION PRODUCTS One Decimal Place :40.05 WA

Australian Construction Products Pty Ltd

339 Horsley Road Milperra NSW 2214

B 4 OFF M24 WASHER ADDED E.A.108.02.16| P.0. Box 565 Panania NSW 2213
REV DESCRIPTION APPD| DATE

Bend Angle : 12

Straightness : 1.5per1500

TERIAL
STEEL TO AS/NZS 1594

N.T.S.

Scale:

FINISH

DRAWING NUMBER

GAO081

PRETREATMENT T0 AS 1627
HOT DIP GALVANISE T0 AS/NZS 4680

DRAWN

EA

CHECKED

APPROVED




